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SN BBIAMYA
o YRS NGt BB X4
Sl BRI 29 (25 & @)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
ORZANZES SN2+ 70,0008 ~100k=128 8,400
OHHAE KAAAY ASE
850,0002! * 122 10,200
OSHAE KAAAY S2UY +48
20,0002 *122 240
OUHH LUALAEHY AHSES 40,0008 128 4,800
203 2R F bl 3,840 4,000 A160
03 AHFAYLE] 3,840 4,000 A160
OYTABI B2 AL 52
20,000%! *8 *123] 1,920
OBBIEH PP F& 20,0008 =82 *123] 1,920
SR 500 2,000 A1,500
2 IR A 500 2,000 ~1,500
OBZA R AMEES X 500
401 Al HI L2 ThEl 50,000 7,000 33,000
01 Al&H| 50,000 7,000 33,000
©3=otg CCTV & X 50,000, 0002 *141 50,000
BoANY 2 B2 849,199 291,815 557,384
101 Q124 bi 575,179 17,777 457,402
04 ILHIETS 24 575,179 17,777 457,402
OBOAE 2YBRl 2T 456,879
SplI== 1,914,402+ 128 142 321,626
Sl=p = 73,2802+ 152 142 15,389
OHYI24E 9, 1602 +1.5x44] 24242 55 6.5%
Oggaz+g 36,6402 +642! 142 32,830
o4ty 2EE 376,439,360 *13% 48,938
os=3 75,0002 *302 *(365/365) « 142 31,500
OFY HAl 22X ARY 98,919
SplI== 73,2802 +7% #1172 60,017
OF54+g 29,3202 +8% +522 2,198
O xt2g 29,320 8% * 152! 3,519
OR3EY+E 29,3202 +8% + 182 4,223
OZB2R4EY 13,7402 +4A 2 x5 5242 6.5%
O4th 282 95, 122,880 *13% 2,366
O2F ¥ 44 23 ARY 19,381
SpII== 73,2802 +102 192 13,924
OFg+g 29,3202 +10% +82 2,346
Oo x4 29,3202+ 102 x22! 587
OR3EY+E 29,3202+ 108 12 294
o4ty 2= 17,148, 4002 *13% 2,230
201 282 bl 63,220 64,438 A1,218




FN 2ZXAMS A
M A2E NS DX T4
Sl BBN 29 CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 31,900 18,500 13,400
OYANL 29 ATBE 7Y
2,500 *4Z +5000 x4 4 & 2,000
oHH 28 AR2EF +2 200,000 «8S 43| 6,400
oHH& FRF MEH 150,000& =102/ 1,500
OJIZtH 22X 18 F#¢ 9,000
orPoSZEEX(d=+Z) 72  2,000&*1,0008 2,000
ONA=ZE 28 4A2E5 7¢
100,000& 208 2,000
OOIAEL ELS(ESZN) M=
100& *20,0000H 2,000
OOA=E 243 & ME 7
500,000& x4Z +23| 4,000
oXHlI (2, XIAHI) LRtz
1,000, 000& *32| 3,000
02 =224l 31,320 45,938 A 14,618
OEgI FA2eltl 1,500,000& »3CH 33| 13,500
OEdI RFUH
1,650 x2km*63| x1.54 *30H 200 17,820
206 M= Hl 49,800 41,600 8,200
01 =8l 49,800 41,600 8,200
AZ HOAM ADE DA ¥ 7
150,000& = 12& 1,800
OgtalZ AlE 2 4,000,000& x12& 48,000
401 AIEHI L 20 151,000 58,000 93,000
01 A& Bl 151,000 58,000 93,000
OE&I etdIAL & =2lHl 21,000
OEAIE(RA)E+Z AL 3,000,000 1000 2 30,000
OOIAEE AE BB A 70,000
Odg Lt E & EXSA
1,000,000& *109H £ 10,000
Os HE JIssA ¥ Hd 20,000
405 RHoHE S HI 10,000 10,000 0
01 AL EFSFHSH 10,000 10,000 0
QHEAAL X & &I 2 10,000
AH L OIBE DH=l 140,000 105,000 35,000
SSA HESAM 2 FASH =2 HE dA BX 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIH B = 10,000 10,000 0
O=S At MEEA EX 5,000
oxdg FoIA =2 Mg X 5,000
SdEZEEM EX 50,000 50,000 0




K- EH3 B (3H) - HSAY - Ba2 ﬁlf& HD=2
307 212t01 & 50,000 50,000 0
04 QIZHSHAFAIE 2 X 50,000 50,000 0
OYsLUE=ZM &2 50,000
2EM SXE st AS=E HE JHX| 80,000 45,000 35,000
201 et A | 80,000 45,000 35,000
03 S AIS H I 80,000 45,000 35,000
OYsL2ALYX AlES HAF O =
20,000,000& *43| 80,000
22X BF e 847,129 652,295 194,834
22X SHEHH 712,134 518,864 193,270
101 @121 351,884 207,384 144,500
04 JI2ZtH2E2XNEE S 351,884 207,384 144,500
ostg e L Al 2 135,673
oJN=3 84,0003 *313! »3H 78,876
OxFs=x¢ 84,000& x52 x3H 13,104
O9 X< 84,000& *15 x3H 3,780
OO0E2tAI 2t =& 15,7503 x4 Al 2t %24 3= +3H 4,536
Os2A2d< 5,250& *BA| 2t x64 3= x3H 8,064
ORr=s%8¢g 84,000 18 x3H 4,536
OBggedg=2 112,896,000 *13% 14,677
O&E &3 90,000& *30 *3H 8,100
O&d0Ig L &4 22 o2 167,963
oJN=3 1,914,4403 x12& x5H 114,867
Od =< 73,2803 x 152 x5H 5,496
OHEZZY 9,160 1. 54 A1 2tx24 2 x5H 6,596
Osgzzxg 36,640& x64 x5H 11,725
o4 B8 & 138,682,400& *13% 18,029
O&E &2 75,0003 *302! *(365/365)*5H 11,250
OFF(XE)HY o2
185,340& x5H x8L x33| 22,241
O0x&Y o2 144,480 6 * 10! 33| 26,007
201 LEt2 Y| 78,250 79,480 A 1,230
01 AtR 2l 42,000 38,800 3,200
OSES&EA A2F ol 1,275,000& x12& 15,300
O&A~ ¥ &P 1,000,000& x12& 12,000
OJI2ZtMZ2=z X 18 7 3,200
oMy =& 2 5502 =10, 0000H 5,500
os3d&EH 2E M 7Y 500,000& *123] 6,000
02 352494l 36,250 40,680 AN4,430
OFALE YL MRAF AIEEH AU
250,000& *9IH &~ 2,250




22 X AFY A&
2dFE Xgot=s 22X =4
22X FF e (&)
SA - BB B (BA) - MM - BHES il H D=2
O=&oA 1§ > 29
750,000& =122 9,000
O&Z It 6,400
O4dgst=s 2,000, 0003 *2CH 4,000
Oat=Xt 2,000,000% = 1CH 2,000
OO0l E Xt 300,000 = 1CH 300
OOlEgX E& & 100, 0002 = 1CH 100
OgZ&EHl EHl KX 22/l 300,000& 108 3,000
OSASMYI =1 =42
200& x1,500¢ *12& 3,600
ottzmHIIZ2 =A 150,000& *80E 12,000
206 M=l 109,000 108,000 1,000
01 Mzl 109,000 108,000 1,000
o1& st 2 3ty 7Y 70,000
o2&l LU = wHd ¥ P 25,000
Oxst7 M= SH 7
500, 000& *43| 2,000
OEl8l & dl 30,000& » 1001 3,000
OM=&g=Z 2 1,000,000& *43] 4,000
OotMst2 24 -
5,000,000& =14 5,000
307 Qiz2tol & 84,000 60,000 24,000
05 BIZHRIE 3 84,000 60,000 24,000
(OF=E~= S 7,000,000& x12& 84,000
401 Al B2 28I 85,000 60,000 25,000
01 A& HI 85,000 60,000 25,000
028 st&4 20,000
OAd=E 2= 2l 20,000
os% &H 15,000
Ost&EA =24 ot AT el AX
400,000 254 & 10,000
Ox&=+ ¥ 20,000
405 KH&HF SHI 4,000 4,000 0
01 HAUSESS 4,000 4,000 0
o=z Fdl & 4,000
SEUAER 29 134,995 133,431 1,564
101 124 dl 33,595 31,931 1,664
04 J12tHIZ2 2 Xt 33,595 31,931 1,664
OB ELtctA 33,595
oJlas 1,914,440 128 x1H 22,974
O xt=< 73,2803 x 15 x1H 1,100
OFgzz2= 36,6403 x64 L «1H 2,345




SN BBAAL L
Hu: A5 NEsts BN T4
chelr 2R s#ZEe (B9 ®R)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
OPEo=2g 90,1608 +1 5x4A 224D *18 1,320
04Tl BER 27,736,480% *13% 3,606
oslmz 75,0002 302 *(365/365) 1 2,250
201 Yot FH| 31,150 40,600 £9,450
01 Ak 22l 1,400 2,000 A600
OXUZTR 7Y 200,000 *53] 1,000
OINAHBE2 T2 7Y 100,000 *12 43l 400
02 22| 29,750 38,600 £8,850
ougsg 88 7 1,650 %1504 #1002 24,750
OAEEH SXH 5,000
206 T2 | 50,250 60,900 £10,650
01 M2 bl 50,250 60,900 210,650
OEAAS 7Y 44,750
o= z37 30,000
OgxMSE 5,000
ODBUNASE 2,250
oot ThE 2,500
OBIIFHASE 5,000
Syl ¥ 85 P 300,0008! *5 1,500
ogHE LYHY 7 100,000 20 2,000
NETHHE FSH L HIE PY
100,000%! +20% 2,000
401 AIEHI L 2 THBI 20,000 0 20,000
01 Al Hl 20,000 0 20,000
OMZ2E ISR L HAAY 20,000
BEI FAD L OIBAIL B2 1,007,096 1,072,726 24,370
AR gL 408,666 405,816 2,850
201 Lur2 HH| 117,166 74,216 42,950
01 At 22l bl 39,000 13,000 26,000
OFAZE2Y 2F 72 10,0008 %1074 £ 33l 3,000
ORSASSH SH AS 6,000,000 14 6,000
OINA ("I S) 272 +&Hl
3,000,000 *107H 30,000
02 22| 78,166 61,216 16,950
OFMZ ZZXJI e DA
15,5002 3674 23] 8,316
OFMZ WLl Az L Il
7,500,000 *14] 7,500
oWyl S {,6502 %3,000¢ *3% 14,850
ORSA WL 250 Zbl 7,500,000 14! 7,500
OAATZHE NS OHAHA
10,000,000%! * 13l 10,000




SA BBAY A
N ARS NHots BA =4
CHOl BT WAIT L JIPAIE 22 (el @ e)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
OANE ZHl sl 30,000
206 M2 | 31,500 36,600 A5,100
01 MZHl 31,500 36,600 A5,100
OFAR 2YRel 224 HE 7Y
350,0002! * 128 4,200
OZZX AR TZ2HE Yo o 27,300
040 & 2t 3,000, 000! *2CH*13] 6,000
OAATEH B 500, 00024 *22H 2CH 2,000
OXtl et 2 2t 500, 0002 *27H *2CH 2,000
o2 500, 000! 27} *23l 2,000
OATH2| B 3,000,000 *57H+1/23] 7,500
OBt C 2 X2 541 2t 800, 0002 *6CH 4,800
ogxRES 2 500, 000! 2T} 23] 2,000
OFAIZ LED 22 79 1,000
401 A& HI 2 2 bl 260,000 295,000 £35,000
01 Al&H 260,000 295,000 35,000
OFAIZ Weterdl F| 1,000,000% 2074 20,000
OFAIZ A2 HHIBA 10,000,000 =204 2 20,000
OFSINEE JISRN ¥ HEAY 80,000
OEEY ISR L KA 20,000
OBBEZELRASAZ ISR L M A
o 50,000
OZEBSHHTAIR ISR L HAAY 20,000
OZEHAE Jls R L HAAY 20,000
OJIE AR B2 30,000
S TR JIPAIE H | 688,430 666,910 21,520
201 Yot Y| 117,620 140, 100 £22,480
01 At 2H 2l 75,970 84,370 £8,400
OFIIQHHBRIX HBL42 40,000
OIS HIOILH(BT/LN) BA+HE
850,0002 *47H 4 3,400
0sYI R L BALL2 20,000
OI FIHA £42  130,0008 %974 2 1,170
OIS HIIMH 228 7
2,000,0002 *3H 4«13l 6,000
Oz ABE Y 600,0002 <9I £ +18] 5,400
02 ZZ 2l 41,650 55,730 A 14,080
OHIAZEI XL 600, 0002 *4CH 2,400
ODY LAY A2l 500,000 *47 & 2,000
OBBAU HES BHES |N22 4,000
OO F =29 HIEHE RX e
50,0009 *507H 4 2,500




FN 2ZXAMS A
M A2E NS DX T4
Sl 2HZX A2 Z DIBEAIE 2e) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OAl4d EHl SXdl 5,000
O+MAR B La
1,200,000& 12 14,400
O2=XclE =cltl 300,000& x5&+23| 3,000
O2LsHMeld=2el2 ME & Wi
7,000,000& » 14 7,000
O2sXel =8 450,000& *33] 1,350
206 M= Hl 43,810 65,810 A 22,000
01 =8l 43,810 65,810 A 22,000
oggt MIIXM 2 15,000
ON2sS SRS LED #E 7Y 11,560
OXts XEMHEI 2285 ¢
750,0002 %27 *97} 4 +0.53] 6,750
OA%28 27 2 ®I| HFI| 2Y
600,000& x5& 3,000
Od&XY LED HEPY 100, 000 *75J4 13l 7,500
401 AIEHI L 2 CHYI 527,000 461,000 66,000
01 A& HI 527,000 456,000 71,000
OZ23HoA4 386,000
OZENES FEEY o 24
10,000, 000& 23| 20,000
Os2dJl EHl ¥ E= 18,000
O=20X4a LE=01& Fl
20,000,000& =14l 20,000
O34 &= i 88 & &l 30,000
OZ&X ozt B 20,000
O&ZX W SHAIZES E4 40,000
O3& W 21X4 HEEH Fl 10,000
O&X W ==x8s 3t ¢ 2=+
3,000,000 =104 30,000
Ooszed A=z FHl 20,000,000& »24! 40,000
OBEX W ZZAL Y|
20,000,000& »24! 40,000
OHEQIMZANE FXE= 30,000
O=&X 2=+ ¥ F 58,000
OZcts JtE 2=AE HEAY 30,000
O©DJIEt DJIBHAIE 141,000
OXIIEH FANE4 (A2 20,000
O ZLUEAIAE OIHEH WA 15,000
2L EH| 20,000,000& »24! 40,000
=X XSO Zl 16,000
Olzs & 328s =8 H-E= 20,000
O=22 &I 2&Et I 20,000




FN 2ZXAMS A
M A2E NS DX T4
Celr RIRX MAIZ U JIBAIA 2 (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OxtE= =2
2,500,000 =404 2~ 10,000
HZH2F A 90,254 121,032 A 30,778
Jl2ZH (2 XA A 90,254 121,032 A 30,778
HY =X ZH 3,000 3,000 0
203 YR =& 3,000 3,000 0
04 EA2IYRFLH| 3,000 3,000 0
ORN2Y HRF=ZHI 250,000& 128 3,000
22 AY| 72,854 85,504 A 12,650
201 €2l 72,854 85,504 A 12,650
01 At 22/l 72,854 85,504 A 12,650
ORAM2Y JIE2+8H| 25,000
o=zg=+¢ 42,150
O=2dl 50,0003 x2H x3652 36,500
Og A 50,0003 x1&H %113 5,650
O= &l 8,000& «12H 241« 123 2,304
o=t 100,000 » 17 %23 3,400
04 bl 14,400 32,528 A 18,128
202 oddl 14,400 32,528 A 18,128
01 SLHOYI 14,400 32,528 A 18,128
O=L0 bl 14,400
O=U0otl 100,000& =12 »12& 14,400




